
1) Simplify 30:22

Answer: ____________

2) Simplify 30:22

Answer: ____________

3) Simplify 18:88

Answer: ____________

4) Simplify 18:88

Answer: ____________

5) Round 4.541178421731285 to the 
nearest whole number.

Answer: ____________

6)
49

6 /12

Answer: ____________

7) Find the percentage change from 430 
to 137.6

Answer: ____________

8) Find the percentage change from 430 
to 137.6

Answer: ____________

9) Simplify 33:34

Answer: ____________

10) Simplify 33:34

Answer: ____________

11) Simplify 33:34

Answer: ____________

12) Round 11.69239 to the nearest whole 
number.

Answer: ____________

13) Round 11.69239 to the nearest whole 
number.

Answer: ____________

14) Round 11.69239 to the nearest whole 
number.

Answer: ____________

15) Round 11.69239 to the nearest whole 
number.

Answer: ____________
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16) Simplify 3:28

Answer: ____________

17) Simplify 3:28

Answer: ____________

18) Round 6.8108 to the nearest whole 
number.

Answer: ____________

19) Simplify 17:86

Answer: ____________

20) Simplify 17:86

Answer: ____________

Total: ___ / 20
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Answers:

1) 15 : 11 2) 15 : 11 3) 9 : 44 4) 9 : 44 5) 5 6) 7 7) -68%

8) -68% 9) 33 : 34 10) 33 : 34 11) 33 : 34 12) 12 13) 12 14) 12

15) 12 16) 3 : 28 17) 3 : 28 18) 7 19) 17 : 86 20) 17 : 86
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